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In the above-mentioned article we made the follow-
ing errors. In formulas (8) and (9) N should be writ-
ten for N3, i.e., (8) and (9) should read
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Hence it follows that the parameters &5 and &y,
which describe the stability of the system with re-
spect to general fluctuations, evidently do not depend
on parameter N

Do =V, +Uy; Do =V, U,

Therefore the example given in the article of the
dependence of the stability of a system on the number
of channels is invalid. In the conditions of the example
the stability is independent of the number of channels
(when N = 2).

The stability of a system will depend on the number
of channels, however, in the following case. Let us
suppose that when the number of channels in the sys-
tem is varied, the parameters describing the steady
regime of each channel do not vary. We shall con-
sider, further, that the heat carrier source and the
steam consumer are turbulent resistances of constant
value,
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Then

(Dm = V;N2 -+ Ul; chz = V;NZ -+ Uz,
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where Vi and V'2 are the pressure drops in the heat
carrier source and the steam consumer at a heat
carrier flowrate equal to the nominal rate through
one channel of the system.*

The stability conditions will take the form
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As N varies from 0 to «, the points [®93(N), ®45(N)]
are located on the arc
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Depending on the mutual position of arc (A) and the
curve (11) in the plane (®,, ®4), the following pos-
sibilities may be realized:

1. The arc (A) lies wholly above the curve (11),
and the system is stable for any N.

2. The arc (A) intersects the curve (11) once.
Then: a) if the point N = 1 lies below the curve (11),
the system is unstable for any N; b) if the point N =1
lies above the curve (11), the system is unstable when
N=2,

3. The arc (A) intersects the curve (11) twice.
Then the system is either stable for any N, or num-
bers m, and mj exist such that, when my < N <my
the system is unstable, and when N < m; and N > m,
it is stable.

*Since Py = 0, &5, = Py. Hence the maximum pos-
sible number of channels in the example considered
is Nmax = E() (Pn—Ua)/V}).
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